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QUESTION 1

Which protocol is used to send messages by the ping command?
A.NTP

B. FTP

C.TCP

D. ICMP

E. HTTP

F. LDAP

Correct Answer: D

QUESTION 2

You want to copy the master boot record, the partition table, and the 2 magic bytes at the beginning of / dev/had to a file
SO you can restore it later. Which command accomplishes this?

A. dd if=/dev/hda of=mbr bs=512 count=1

B. dd if=mbr of=/dev/hda bs=512 count=1

C. dd of=/dev/zero if=/dev/hda bs=512 count=1

D. dd if=/dev/urandom of=/dev/hda bs=512 count=1

Correct Answer: A

QUESTION 3

You want to redirect the output of the Is command to the Is-output file which already exists. The output should be
appended to the file; it should not overwrite the existing content. Which command accomplishes this task?

A. Is > Is-output

B. Is : Is-output

C. Is >> Is-output

D. Is andand Is-output

Correct Answer: C

QUESTION 4
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Which statement about an incremental backup is correct?
A. The use of incremental backups is limited to backups on tapes.
B. To restore an incremental backup, you need the last incremental backup only.

C. To restore an incremental backup, you need the last full backup and the last incremental backup that was made
since the last full backup.

D. The amount of data that needs to be backed up with each incremental backup depends only on the amount of data
changed the last incremental backup.

Correct Answer: D

QUESTION 5

Within less, how do you search for a string downwards from where the cursor is positioned?
A. \string

B. ?string

C. /string

D. =string

Correct Answer: C
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